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[E3R 7a: 2 A
x| R | BR | me | aR|wte| B | w2 | aw|wee| o | T
1 | wx| & 4H | 1 50 xR 4H | 50
2 |mib| m& 4s = | 620 | 4t 4s = | 620
3 |Z&AE| &= a4s | -2 | 100 | it 2s | +1 | 140 6
4 |wal 4t | 2Dx | 1 | 200 | Z 3c | +3 | 170
5 |[flt| & | 3NT | -2 | 100 XK | 2Dx | = | 180
6 |z=f/| 8 | 4sx | 2 | 300 | &E 5H = | -650
DATUM#it iFEE
BE=E =3 {08 r: 5 ] 15 7
/ -3 / -8 ait 15 7
/ 8 / 3 V.P. 13.53 | 6.47
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x| R | BR | me | aR|wte| B | w2 | aw|wee| o | T
1 |Wx| &5 | 4sx | 2 | 300 | & |4Sxx| = | 880 15
2 |&dt] 75 | 3NT | +2 | -460 | 7§ | 3NT | +2 | -460
3 | &G 4t 4H = | 420 | 4t 3H | +1 | 170
4 |ws| 7@ 3H | 1 | 100 | 7 2H = | 110
5 |mEdt] & 6D -1 50 7 6D = | -920 | 14
6 || 4t | 4sx | = | 590 | 4t | 4sx | -1 | 100 | 12
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/ 13 / -4 V.P. 17.58 | 2.42
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x| R | BR | me | aR|wte| B | w2 | aw|wee| o | T
1 o w [ris] 3NT +4 -520 [rif] 6D +1 =940 9
2 2] ¢ Jra] 2D -2 100 it 3NT = 600 11
3 panyiic] x 3D -1 100 5| 2S -1 -50 4
4 Wa 1t 4H +1 650 1t 3H +1 170 10
5 2] ¢ [£3] 3NT -1 =100 [£3] 3NT -1 =100
6 amgiic] [E7] 2S +3 200 x 2H = -110 7
DATUM%iit iAEE
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/ 9 / -5 &it 30 11
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2 2] ¢ Jra] 48 +1 -450 [ri] 48 +1 -450
3 || 78 | 3NT | +2 | 660 | 7 | 3NT | +3 | -690 | 1
4 |ywwgl /s | a0 | +1 | 650 ] 7 | 6H | -1 | 100 13
5 [mdb] it 3NT | +3 | 690 3] 3NT | +2 | 660
6 |/l %= | aH | 2 | 200 | 7 3¢ | +1 | 130 | s
DATUM%it iFEE
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/ -3 / -3 &it 20 13
/ 3 / 3 V.P. 13.15 | 6.85
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1 | wx| 4t 5S = | 450 | 7/ | 7cx | -2 | 300 | 4
2 |mib] db 2s 1 | 100 | 7 1S -1 50 4
3 | &G 4t 2C = 90 it | 3Hx | 1 | 100 | 5
4 |wBE| & 3¢ | +1 | 130 | & 5¢ | 1 | -100] 6
5 |mit]l Z&= | 56x | -2 | 300 | 4t 4s 1 | -100 ] 9
6 |FF| = 4s | +1 | 450 | it 3 | +1 | 170 | 7
DATUM&it g
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/ 27 / 1 ait 31 4
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